Total number of printed pages—-2 7
3 (Sem-4/CBCS) CSC SE 1[2/3/4/5

2023
COMPUTER SCIENCE/COMPUTER
APPLICATION/INFORMATION TECHNOLOGY
( Skill Enhancement Course)

Answer the. Questions from any one Option.

OPTION-A
(R Programming )
Paper : CSC-SE-4014

0 ~ OPTION-B
] - (HTML Programming)
§ Paper : CSC-SE-4024

OPTION -
{ System Administration and Maintenance)
Paper :
CSC-SE-4034
TCA-SE-4014
TIT-SE-4024

OPTION - D
{ Android Programming )
Paper : CSC-SE-4044
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OPTION-E °
(PHP Programming)
Paper : CSC-SE-4054
(ICT Hardware)
Paper : TCA-SE-4024
- (E-Commerce Technology)
Paper : TIT-SE-4014

Full Marks : 50
Time : Two hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in. Assamese.

OPTION-A
(R Programming)
Paper : CSC-SE-4014

1. Answer the following questions as directed :
ik 1x4=4

(a) R operates in two modes : interactive

~and (Fill in the blank)

(b) The elément_s of a logical vector can
~ have the values TRUE, FALSE and NA.
i (State true or false)
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(¢) ______  function is used to read in a
vector from file or the keyboard.
i - (Fill in the blank)

(d) is a operator that can be used
to extract subsets of R objects. ;
‘ (Fill in the blank)

2. Define the following terms : {any three) '

2x3=6
(a) Vector
(b) Lapply
(c) Sapply

(d) Data frame

‘3.  Answer any two of the following quesﬁons 5
7 e 5x2=10
(a) Explain briefly the debugging tools of
: R programming. ' '
(b) Write a function that computes the

running total of a list.

(c) Explain briefly the common vector
operations.

(d) Write brief description of profiler in R.
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(b)
(0)

(d)

4. Answer any three of the following
questions : 10x3=30
(@) Give an overview and history of R

programming.
Explain the basic data types available
in R programming.

Explain the use of any. three loop
functions.

How can data frames be read from
files? How to read text from files ?
Explain with suitable example.

Give brief description of any five control
structures in R programming.

List the inbuilt summary functions to

apply on vectors. Create a vector and

* apply all functions on it.
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1. Answer the following questiens:

~ OPTION-B
(HTML Programming)
- Paper : CSC-SE-4024

1x4=4

wofe o Tew Rk ¢
(@) What is formatting in HTML ? .

(b)

(¢

(d)
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HTML © %662 ﬁs‘)

The textual content that appears in the
source HTML document but is not
rendered by the browser is called

(Ftll in the blank}

%QWHTMLWNW%@@W
@S T Ay TERES . @

| (3Tt 312 799 )
What is <blink> tag ?

<blink> (391 R

Which: of the following is correct ?

ST (PITCT 9% 2 '

(i) <input time="radio” name="animal” value="Zebra">Zebra
<input type="radio” name="animl” ﬁalﬁe=“Lion”>Li6n

<input type="radio” name="animal” value="Elephant"sElephant
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(ii}  <input type=“rédio” name="Zebra">Zebra
<input type=‘radio” name=“Lion”>Lion
<input type=‘radio” name="Elephant”>Elephant

2. ' Answer the following questions :  2x3=6

OO ePTRE TR il ¢
(a) What are HTML element ?

HTML Toive & &e

(b) Write output of the following HTML
code :

©&§ HTML 309 w8595 fora ¢
<html><head><title>Table</title>< /head>
- <body=> :
<table border=“1">

<tr><th align=“centre” rowspan=“3">ONE</
th><th>TWO</th><th>THREE</th>< /tr>

- <tr><td>Rose></td><td>Lily< Jtd></tr>

<tr><td align=“centre”>Par}sy</td><td
align=‘“centre” colspan=“2” Dahlia</th></tr>
</table></body></html>

(c) Write about image tag and font tag.

G (55 I F5 cﬁmﬁmxﬁma
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3. Answer any two of the following questions :

; G 5xoeip

(@) What is’ form ? What are different
methods used in from ? CTE

o1g 52 Rreg o1 Rfen REICE e R

(b) Write code to create the following HTML -

form to accept user’s information as
part of a magazine survey :

SIS et e oottt <z wj

92 SR fmfERe HTML eiofg % e
TG o) 2

- Name i ]
Addr_ess' [F =1

Male O

You came to know about our magazine

Female ()

from : g
S AT eiofas Ry ooif o
[] Friend [] Newspaper

[] TV/Radio '[] Others
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fc) Write an HTML code to generate the
giVen table in web page exactly as
 given:
R st e c“r;qmﬂ Wﬁm T A TR
@5l HTML %G ferdl 2
- . SUPPLIERS _
_SUPPLIER ID SUPPLIER NAME STATUS CITY
S1 .. Britannia 20 Rajasthan
(d) Explain table tag with its‘ attributers
by an example.
(531 (5o 2 CAFRBITIE GTCS ot TR
wiEt e B

'threre of the following

4. Answer any
10%3=30

questions :

O PR ﬁﬁmFﬁ?RMﬁm

‘(_a) Write different types attrlbutes of

(c) Wr1te & program in H’I‘ML for the
following output : ;

T SCB5Y A HTML & 51 eltals fovat ¢
i) Arts
(a) Education
(b) Philosophy
(c) Sanskrit
{ii). Science :
~ {a) Chemistry
(b) Physics
. [¢) Computer Science
(i) Commerce
- {(a) Accountancy
(b) ‘Management
(c) Banking

(d) Write HTML code for the following form
e w5 A HTML 7' e s

Reglstratlgn_’;_F.Qrm‘

User Name

frameset HTML. P ‘ —
, ; _ P P
@ HTML 3 [fen w9 @fies @ fasword = =
Confirm Password |
(b) Explam different types of Hyperhnks First Name -
{or) anchor tag. . L s
ffen . onaﬁ-{ L
?»33 & (A) @] @ﬁ i Phone Number i = 4
'WI Location = - - iz =
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(e} Explaxn the use of the following tags in . OPTION -C

HTML : : (System. Admihistration and Maintenance )
T A1 HTML 3 (O7IPPRs SR R0 o oo s 4034 /TCA-SE-4014/TIT-SE-4024
fi) - <pre>: : " { 1. Answer the following questions : 1x4=4
(i) <strike> . (@) Server computers configured with active
(iii)) <hr> : directory are known as
(iv) <ol> : | i (i) group policy
(v) <th> ‘ (i) Windows domain
() Write HTML code to draw your class WS A policy
' ;I;I\C;Itft::lzde < SRS (O T WT (iv) domain controller

(.%‘(ﬂ??ﬁ s oA Bl (b) New server manager creates
- (i) server group manage

(i) hyper-V replication

(i) power shell

(iv) 1S 8.0 and IIS 7 in 2008
(¢) Loopback ad.dress is

4k 127000

M7 107 0 |

LAl 127:0,0:1

(iv) 1271271270
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: @l 2h contains the ..'mempry of a 4.

virtual machine or snapshot that is in |
a saved state.

{) .BIN files

(@) VSV files .
(i) .AVHD files
(iv) XML files |
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Answer the following quéstions : (any three)

(c1)

(b)

10x3=30

Explain the term NETBIOS. Describe
the implicit intent. What are NETBIOS
service ?

What does an RODC do ? Explain. What

- are the major benefits of using RODCs ? -

'(c) Note down the difference between micro
t1 4 Ix3=6 and monolithic kernel, Draw the
g followmg e 1 structure diagram of macrokernel.
(@) Deﬁne VED dles: (d) Describe the features and architecture
(b} What is the Wlndows Reg1stry ? of Windows C5. Draw th . archltectural
(c) Deﬁne BltLoc,ker diagram too. - .
: (e} Write short notes on terminal, bash
3. Answer the following questions : (any two) | shell, corn shell, echo, trash.
: : iy (f) Briefly describes about client services
(a) Explain the working method of DHCP. and server services of UNIX OS.
(b) Note down the difference between
 software publishing and assigning.
(c) Explaih the difference between firewall |
and anti-virus.
(d) What is a persistent object ? What |
command do we use to- get rid of
- lingering objects ? Why is it crucial to ' '
get rid of the lingering objects ?
3 (Sem~4/CBCS) CSC SE 1/2/3/4/5/6 13 , Contd.




OPTION-D

(Android Programming)

Paper : CSC-SE-4044
‘Answer the following questions : 1x4=4
(@) In android, mini activities are also

known as -
(i) adapter
(i) -activity
(iii) fragments
(iv) None of the above
(b) Activity in android can be killed using
(i) finish activity (int request code)
(ii) finish () method
(iii) Neither (i) nor (ii)
(iv) None of the above
(c) Transient data in android is
(i) logical data
—(ii) secure data .
(iii) temporary data
(iv)] permanent data -
(d) Who develops Dalvik virtualln;lachine P
(i) James Gosling '
(i) Dennis Ritchie
(iii) Dan Bornstein
(iv) Dalvik Austin

= {Sem—4/CBCSl CSCSE 1/2/3/4/5/6 14
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Answer the fbil’owing questions : . 2x3=6

(a) Define android manifest.
(b) Define fragments.

(¢) What is gradle creation ? Define tool bar.

Answer the following questions : (any two)

5x2=10

(@) Wr1te android code to capture images
from rear and front both cameras.

(b) Write Kotlin code to display an image
and button. On button click the image
is changed. The images are put inside

- the resource folder.

(¢c) Describe SDK. How does SDK W&_)rl_{ ?
Draw the structure diagram of SDK.

(d) Descrlbe open handset alliance. State
the services of OHA.

Answer the following questions : {any three)
_ 10x3=30
(@) Write Kotlin code to develop scientific
calculator using layout. :
(b) Write android_ cé_de (XML and main
activity code) to develop.an application
for connecting to the internet and
sending e-mail. ; .

Contd.



(c)

(@)

@

Write android code (XML and main

activity code) to'dcvelop an application

for working with graphics and
animation.

Explain android architecture briefly.

-Draw the diagram: also.

Draw the activity lifecycle diagram and
describe about it briefly.

Write android code to use linear layout
to create a simple application. that will
take the contents of a predefined text
view and use a button to cause the

-application to take that text. Convert it
to upper case and display it in an edit’

text field.
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OPTION -E
( PHP Programming)
Paper : CSC-SE-4054

Answer the followmg questlons as dlrected

1x4=4

(a)

(b)

(c)

(d)

- is used to add a comment in
PHP code. (Fill in the blank)

PHP ‘code comment F[2E0s

Y VR (I 5% 7 )

Value of the expression 5%-3 is’ :
(Fill in the blank)

5%=-3 AR A (31T} 912 73 1)

PHP allows default argument values.
(State true or Jalse)

PHP © default argument AT |
(%% (7 erom f53)

e arrays are used to store key
value pairs. (Fill in the blank)

arrays © key value §fo #eIw9
o= AR - (A 312 979 )
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Define the following terms : 2%x3=6
woT i SRR R B ¢ '
{a) Web server

(b] . Global vakible

{c) Regular expression

Answer any two of the following : 5x2=10
TRicieart 751 e Te e ¢

(a) What are the 1mp0rtant tools and
software . requirements for PHP

programming ?

PHP programming 9 44 @fﬁ“ﬁﬁcﬁif "\‘FJTT"B\F[T
W9 software (I &2

(b) Write the difference between GET and
POST methods in PHP with example.

' PHP © 2% GET ®i POST *[& %% 14
- TwigseitTes ol '

(c) Explain with example call by value and
call by reference i PHP.

: PHP © call by value i< call by reference
TR ?m’?n a4 | -

(d) What are ‘the differences between
indexed based array and associative
array ? Give example.

Indexed based array W% associative

arréy T AR e

Answer any three of the following
questions : i 10x3=30

(@) Write a brief description of any five
string-related library flinct_i_ons. ,

String WFYE [P ol library
functions ¥ ?1’@ Tzl |

(b) Explaih the following functions with
suitable example :

ST il PRGN SRR T 741 3
preg_rnatch ( ) | 7
pre&replace (')
preg grep ()
preg_split ()
pregwquote ()

: : 3§ (Sem~4/CBCS) CSC SE 1] "
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(C)

(d)

(e)

Write a PHP program to check whether
the given number is prime or not.

o] Bt TR 1 T G R A R

&5t PHP @iasl farai |

Write a PHP script that removes white
spaces from a string

- &B! string 9 %19l white spaces @R W

@Bl PHP script i}

Write a PHP program to check that :

emails are valid.

email 3 (3¢l 9rF TR a%T. PHP

program f&73lf |

Write a PHP program to print Fibonacci
series using recursion.

Recursion INZR F= Fibonacci &% prmt

3T PHP program ferait|
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OPTION - E
(ICT Hardware)
- Paper : TCA-SE-4024

Answer the following questions : 1x4=4 -

weiq o TeR T g

(@)

(b)

What is memory unit ?
Memory unit &2

Printer is an input device.
; (Write true or false)

Printer @f@4 input & (3757 (7 ﬁzr GEl,

(¢) What is bus ?
Bus &2 ;
(d) Give the full form of FAT.
FAT 3 57~ Feot fevait
Answer the following que;‘stio_ns. : 2x3=6

W e Tl e

(@)

Differentiate between - cache memory
and v1rtual memory.

Cache memory i< virtual memory 3
e #{i9f Brl | -
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(b) List Mo lfeéturcs of USB.
USB 7 ORGREIT

(c) Wﬁat are the different types of ROMs ?
AW vo@ ROM Res o e

Answer any two questions from the

following : A '5><2=10

(a) Write the steps for installing additionél
'HDD. _ _

«f$f%& HDD ZH I TR Frat|

(b) ~Brieﬂj explain the different types of
RAMs.

fafen 4= mmaﬁmsﬁ@m@aﬁﬂ

(c) Write a short noté on preventive

maintenance of PC.

PC 3 2fomiY THRR eTs oS 5y R

IGEIN
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(d) What is DVD ROM ? What is the .

difference between CD ROM and DVD
ROM ? What are the major apphcatlons

of CD ROM ? :

DVD ROM 2 CD ROM & DVD ROM

T WS i<y 2 CD ROM 3 &4l eTaaiE@R

fo e

Answer any three questions from the

following : : © 10x3=30

WHA Riprer ot eniR T 5 3

(@) Explain the logical structure and file -
system of hard disk drive.
Hard disk drive 3 Jf&sid o1of = file
system ¥ ﬁﬂm AN A | :

(b) Give the block  diagram of computer
system and explain its various
functional units.
Computer system J “’Mﬁ‘@ it = R
[afon =T weERE T a1 :

(¢) Explain on the basis of classification

according to size, purpose and data
process of computer. -

i, T SR it 2re @vlee ol R
T AfPThR (TR R i 9 |
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OPTION-E

(d) Write down the steps for disk (E-Commerce Techn'ology)‘
- formatting, driver installation and dlsk Paper : TIT-SE_4014
defragmentation. | T e o
Disk formatting, driver installation Si< l.  Answer the following questions : 1x4=4
disk defragmentation ¥ JI(3 &3 R '_ (a) _is an early form of E-Commerce.
(e) Describe the various peripheral devices () SCM
of computer system. . :EDI
ii
a%@ma%@m fom perlpheral W {.__ i
e (iii) Both of the above

: (f). . Write short notes ot : (iv) None of the above

' _ ’ (b) Which of the following is not a user of
o ferdt & B2C E-Commerce ? :

() Socket (i) Distributors
3 o5 1 t & : :
(i) :B(/)IPS _ (i) Manufacturers
(i) sl
. ; _ Publish
fiv) Motherboard (wy i

(iv) None of the'above :

(¢) Which of the following is not a BZB
E-Commerce ? .

(i) Sending and receiving orders
(@) Invoice and shopping
(iii) All of the above

(iv) None of the above
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(d)

is not a horizontal portal.

' b) Describe th i |
() Yahoo (b) A ¢ the architectural framework
of E-Commerce. Explain the application
fii) SailNet ‘ ‘ Services.
(iij) MSN/Windows Live (¢) Explain all types of E-Commerce model.
(i) AOL (d) Describe the benefits of E-Commerce.
s and benefits of consumers. :
2. Answ_er‘ the following questions : -~ 2x3=6 (e) Explam the limitations of E- Commerce
() Define B2G business model. 0 ;’Vl‘lte téle steps of online security. Note
iy ; | ~down the advantages and dlsadvanta es
) (c} Deﬁne B2C business model. of electromc payment -
3. Answer the following questions : {any two)
; il : 5x2=10
{a) Write the difference between
E-Commerce and traditional commerce.
(b} Explain the domain control Give
* example. '
(c) Explain the components of
E-Commerce. .
(d) Describe about E-marketing.
4 ~ Answer the following questions : (any three)
~ 10%3=30 °
(@) Define EDL Explam the: advantages and
disadvantages. : :
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